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asym_bcm_target RMS (ppm)
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asym_us_avg (ppb) 1D pull distribution
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1D pull distribution
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asym_usl RMS (ppm)
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lagr_asym_us_avg RMS (ppm)
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1D pull distribution

+ 0.122

—0.002013

Mean

0.9046 + 0.08625
8.142/7

14.49 + 2.66
0.02994 + 0.10767

Std Dev
Underflow
Overflow
X2 / ndf
Constant
Mean

0.6888 + 0.0775

Sigma

|

L\

8
6
4
2
OIII

45.01/54 R
—-299.6

X2 / ndf

175.8

+

pO

lagr_asym_usr (ppb)

4000
2000

l
|

2000
4000 —



lagr_asym_usr RMS (ppm)
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lagr_asym_usl (ppb 1D pull distribution
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lagr_asym_usl RMS (ppm)
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